Test: Primary 5 Science (Term 2) - Henry Park
Points: 67 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 58 Primary 5 Science (Term 2) 2 pts

For each question, four options are given. One of them is the correct answer. Make
your choice (A, B, C or D) and choose the correct answer below. (56 marks)

Minghao was drinking a cup of hot coffee when his spectacles fogged up.

Which of the following statements explains why his spectacles had fogged up?

A) Water from the surrounding air condenses on the cool surface of his lens.
B) Water from the surrounding air evaporates from the cool surface of his lens.
C) Water vapour from the hot coffee evaporates from the cool surface of his lens.

D) Water vapour from the hot coffee condenses on the cool surface of his lens.



Question 2 of 58 Primary 5 Science (Term 2) 2 pts

Wenhao wenl lor a run af the track. Afler tha run, he perspired and feli even colder when it
became wincy,

Which of the following statements explains comectly why he felt colder when it became
windy?

A) His perspiration loses heat to the body and evaporates faster.
B) His perspiration gains heat from the body and evaporates faster.
C) His perspiration loses heat to the surrounding wind and evaporates faster.

D) His perspiration gains heat from the surrounding wind and evaporates faster.



Question 3 of 58 Primary 5 Science (Term 2) 2 pts
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Question 4 of 58 Primary 5 Science (Term 2) 2 pts

Samy wanted to find out how the amount of wind affects the rate of svaporation of water on
tha paper. The fans are all moving Bt the same speed.

paper with wet

paper with wet
patch folded up

Which two =et-ups should he use 1o have a fair experiment?

A) AandB
B) BandC
C) AandC
D) CandD



Question 5 of 58

Primary 5 Science (Term 2)

The diagram below shows the changes of state in water.

A B
;; L
Which of the following is correct?
A) Process A [Process B |Process C |Substance D
Lose heat [Gain heat |Lose heat |Steam
B) |Process A |Process B |Process C |Substance D
Gain heat |Lose heat |Gain heat |Water Vapour
C) Process A [Process B |Process C |Substance D
Lose heat [Gain heat |Gain heat |Steam
D) Process A |Process B |Process C |Substance D
Gain heat |Gain heat |Lose heat |Water Vapour

2 pts

D (below 100°C)




Question 6 of 58 Primary 5 Science (Term 2) 2 pts

Four students discussed on the effects of global warming ss shown in the diagram below.

Which of the following students are correct?

A) Ming and Elliot
B) Elliot and Yuki
C) Ming and Betty
D) Yuki and Betty

Question 7 of 58 Primary 5 Science (Term 2) 2 pts

In Singapore, waste may be sorted into different bins for the purpose of recycling.
Whish of the following stalements are comect reasons for recycling kasis?

A.  To preserve lrees
B. To reduce poliuticn

C. To reduce wastage of materials

A) A and Conly
B) AandB only
C) BandConly
D) A,BandConly



Question 8 of 58 Primary 5 Science (Term 2) 2 pts

Jack used a float o help him swim in the pool.

Jack found that he can continue to pump air into the float even when it was fully inflated.
What physical property of air allowed him to do this?

A) Air has mass
B) Air occupies space
C) Air can be compressed

D) Air does not have a definite shape
Question 9 of 58 Primary 5 Science (Term 2) 2 pts

Iman has a bowl of hot soup and he needs to cool the soup fast.
Which of the following will help to cool the bowl of soup most quickly?

A) Wrap the bowl with a dry cloth.
B) Place the bowl in a ziplock bag.
C) Pour the hot soup into a metal plate.

D) Cover the top of the bowl! with a wooden lid.



Question 10 of 58 Primary 5 Science (Term 2) 2 pts

John conducted an experiment using two Identical flasks a

| s shown below. Flack X was
coveraed with a layer of feathers with neifing while flask Y was only covered with netting
Both flasks were filed with 200 cm? of water measuring 80°C. '

200 cm? of water
measuring B0*C

feather

netting

A magnified picture of the feathers i shown in the diagram below.

magnified view of the feathers

Which one of the following graphs correctly shows the temperature of water in flask X and Y
over a period of time?

A)



B)
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&

time (min) ’
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Question 11 of 58 Primary 5 Science (Term 2) 2 pts

A)
B)
C)
D)

The wheels of & horse carl are fitted with sissl rimes.

The original size of the sieel rim is smaller than the original size of the wooden spoka.

stesl im

The list of steps below shows how the stesf fim is fitted around the wooden EpoKe:

Step 1: Heat up the sleel rim with burning coals.
Step 2: Place the heated steel rim around the wooden spoke
Step 3: Quickly pour cold water onto the fitted rim. -

Which of the following statements explans why step 2 needs o be carried out?

The steel rim will expand so that it can grip the wooden spoke tightly.
The wooden spoke will expand so that it will not fall out of the steel rim.
The wooden spoke will contract so that it will not fall out of the steel rim.

The steel rim will contract to its original size and grip the wooden spoke tightly.



Question 12 of 58 Primary 5 Science (Term 2) 2 pts

Richard could not open a jar of jam because the lid was too tight.

{i g —3— id

. jar

Which of the following shows fhe comect action that would help Richard apen the jar of |
and explanation on how it helped? i sl Ll

A) |Action Explanation
Heat the lid over a flame. | The heat will cause the lid to contract and loosen.
B) |Action Explanation
Wrap the lid with a piece of warm The heat will cause the lid to expand and
cloth loosen.
C) |Action Explanation

Heat the bottom of the jar. | The heat will cause the jar to contract and loosen.

D) |Action Explanation

Immerse both the jar and lid in | The heat will cause both the jar and the lid to
hot water. expand and loosen.




Question 13 of 58 Primary 5 Science (Term 2) 2 pts

An iron block was hung from a spring balance as shawn balow.

Which of the folowing comectly describes the volume and mass of iron biock after being
hiung for 156 minutes above the burming candie?

Al Volume of iron block (cm?) |Mass of iron block (g)

remained the same increase

B) Volume of iron bock (cm?) |Mass of iron block (g)

remained the same remain the same

©) Volume of iron block (cm?) |Mass of iron block (g)

increased increase

D) Volume of iron block (cm?) |Mass of iron block (g)

increased remain the same




Question 14 of 58 Primary 5 Science (Term 2) 2 pts

Twa containers of weter, at room tempemture, were heated on hot plaies as shown in sel-

up A and set-up B. The identical hot
o e bk sk plﬂiu-ww-sﬂluthurﬂmutmpﬂmumEm

Wy

sel-up A set-up B

Which of th following staternent(s) isfare corract?

A Water in set-up A will boil first. 7
B The water in both containers will change state.
C Walsr in set-up B will boil first

A) Aonly
B) Bonly
C) AandBonly
D) Band C only



Question 15 of 58 Primary 5 Science (Term 2)

2 pts

A)

B)

C)

D)

Study the dlassification chart balow.
Y T —— I
3 slages 4 slages
Adult with wings Adult with o wings. Young llves on Young lives in
p, ﬁ ¥ l
R Mozquito

Which one of the following animals represants P, O and R7

P Q (R
cockroach |frog | butterfly

P |Q R
frog | cockroach | butterfly

P Q R
cockroach | butterfly |frog

P Q |R
butterfly | frog | cockroach




Question 16 of 58 Primary 5 Science (Term 2) 2 pts

The dizgrams below show fAowers that have et been pollinated.

(A) (B)
el % E
(C) (D)

In which of the following flawers can pollination take place?

A) Aand Conly
B) B and C only
C) AandD only
D) B, CandD only



Question 17 of 58 Primary 5 Science (Term 2) 2 pts

The dizsgram below shows a slice of frull T

fruit T

il

Easudmmnﬁnmaﬁmghmwh&mmnfmnhwnm;mm most likely comect
about the flower from which fruit T has developed? : s

A) The flower has many ovaries.
B) The flower has more than one stigma.
C) There are many ovules inside its ovary.

D) The fruit is developed from a flower with many small petals.



Question 18 of 58 Primary 5 Science (Term 2) 2 pts

Tha diagrams below show a flower, femaie human reproductive system and male
human reproductive systam.

Female reproductive system Male reproductive system

Which parl of the above flower has the sama functions of X and 'Y In humans?

A) [x
C|B
B) x|y
D|B
G |x|y
A|D
D) (x|y
Cl|A
Question 19 of 58 Primary 5 Science (Term 2) 2 pts

Flowers benefit directly from the visits of insects like butterflies and bees because they

A) fertilise the flowers.
B) pollinate the flowers.
C) lay eggs on the flowers.

D) provide food for the flowers.



Question 20 of 58 Primary 5 Science (Term 2) 2 pts

The diagram bslow shows the farnala reproductive parts in husmang

Which part produces eggs and which part does a fertilised B00 develop into an wnborm baby in?

A) |Produce eggs |Fertilised egg develops into an unborn baby
P Q

B) |Produce eggs | Fertilised egg develops into an unborn baby
S R

C) |Produce eggs |Fertilised egg develops into an unborn baby
P R

D) |Produce eggs |Fertilised egg develops into an unborn baby
S Q

Question 21 of 58 Primary 5 Science (Term 2) 2 pts

Which one of the following helps a developing baby get his nutrients from his mother?

A) egg
B) womb
C) ovary

D) umbilical cord



Question 22 of 58 Primary 5 Science (Term 2)

Study the family tree of Kasim as shown below.
The family tree shows the members who have altached eariobes or detached eariobes.

2 pts

B0 ®  [eun

[] Male with attached

§0h—6 & [ommm

Male with detached
earlobes

5
O i . Female with detached
earobes

Kasim

Which one of the following statements about the family tree is comect?

A) Both Kasim's uncles have detached earlobes.
B) Both Kasim's sibling have attached earlobes.
C) Both Kasim's parents have detached earlobes.

D) Both Kasim's grandmothers have attached earlobes.



Question 23 of 58 Primary 5 Science (Term 2) 2 pts

Al Ling wantad to test the strength of bags made of four differant materials.
She placed 100-gram weights, cne &t a ime, into each bag until it tore.

_ retort stand

100-gram weight

She recorded the number of weights the bags could hold before they tore in the table

below.
f Material of bag i A [ B C D
Number of 100-gram weights | ]
the bag could hold before ittore | 8 4 2 B
|' I

Based on the information given, which of the following materials is the strongest?

A) A
B) B
C) C
D) D



Question 24 of 58 Primary 5 Science (Term 2) 2 pts

Study the flowchart below.

L = ]

Is it easily broken?

handle

Which material should Dinesh use to make the body and handle of the frying pan?

A)

Body

Handle

E




B) Body [Handle
E F

C) |Body |Handle
F E

D) Body [Handle
F G

Question 25 of 58 Primary 5 Science (Term 2) 2 pts

gﬁgmm :,Aﬂrnnphmdacubamarpnlax of a U-shaped magnet and it was atiracted
pole. In diagram 2, without tuming the cube, he
2 el oo placed it near pole . The cube was

diagram 1

What conclusion can he draw from the cbservation?

A) The cube is a magnet.
B) The cube is made of steel.
C) The cube is made of copper.

D) The magnet has two like poles.



Question 26 of 58 Primary 5 Science (Term 2) 2 pts

Mrs. Ho placed a magnet on a tray of iron fillings.
Which one of the following diagrams correctly shows the pattern of the iron fillings attracted

to the magnet?

A)

B)

C)

D)




Question 27 of 58

Study the flow chart balow.

Primary 5 Science (Term 2) 2 pts

//'/~,|-.-\\ yes  _  glass

X yos 5
beakar
no no
cotton goid
shirt ring

Which of the following represants tha missing questions; X and Y, in the flow

chart?

A) |x Y

Does it absorb water? |Is it flexible?

B) |x

Y

Does it allow most light to pass through? |Is it strong?

C) |x Y

Does it absorb water? | Does it allow most light to pass through?

D) |x Y

Is it waterproof? | Does it allow most light to pass through?




Question 28 of 58

Study the classification table below carefully.

Primary 5 Science (Term 2)

Animals

|

2 pts

Which animals have been placed incorrectly in the c:laﬁs-‘nﬁmli;m table?

A)
B)
C)
D)

chicken and frog
mosquito and beetle
grasshopper and beetle

mosquito and cockroach



Question 29 of 58 Primary 5 Science (Term 2) 2 pts

An experimeant mmwhmanmmmmmmlmmm.

mmmnmmam.mgmmmm t & height bove
as shown in the diagram below. The axpariment ltr_l;gui;d with mﬁnc arﬂirg e

magnet

7

L

. =
The number of iron nails atrected to the magne! was recorded in the table below

Magnet A T B T ©
MNumber of iron nails 20 f 7 13 1El:1_J|

——

Based on the results above, which magnet was the strongest? Give a reason for your
answer?



Question 30 of 58 Primary 5 Science (Term 2) 0 pts

An experimeant mmwhmanmmmmmmlmmm.

mmmnmmam.mgmmmm t & height bove
as shown in the diagram below. The axpariment ltr_l;gui;d with mﬁnc arﬂirg e

L

. =
The number of iron nails atrected to the magne! was recorded in the table below

Magnet A T B T €
MNumber of iron nails 20 f T 13 1[;:-‘_}

Devi wanted to determine the strength of the magnets by using only one iron nail and a ruler.
Describe how she can do so. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 31 of 58 Primary 5 Science (Term 2) 1 pt

Procass K takes place when insect Q lands on the flower of plant P as shown in the diagram
below.

fiower of plant P

insact C

Name process K.



Question 32 of 58 Primary 5 Science (Term 2) 0 pts

Procass K takes place when insect Q lands on the flower of plant P as shown in the diagram
below.

fiower of plant P

insact C

How does removing the petals of plant P affect process K? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 33 of 58 Primary 5 Science (Term 2) 1 pt

Procass K takes place when insect Q lands on the flower of plant P as shown in the diagram
below.

fiower of plant P

insact C

Name the female reproductive part that needs to be present in order for process K to take
place.



Question 34 of 58 Primary 5 Science (Term 2) 0 pts

Procass K takes place when insect Q lands on the flower of plant P as shown in the diagram
below.

fiower of plant P

insact C

What is likely to happen to the number of fruits produced by plant P if the number of insect Q
decreases quickly? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 35 of 58 Primary 5 Science (Term 2) 1 pt

The diagram below shows the male and femals roductive
reproduction of a human. Cells T and Ummadadrﬁfr mmzﬁﬁg RS Z 0. 1o

T\,u.,::
N“‘u ‘1

Name the reproductive part where cell T is produced:

Question 36 of 58 Primary 5 Science (Term 2) 1 pt

The dizgram below shows the male and female roductive
reproduction of a human. Cells T and Umnuadadrﬁ' mmzﬁﬁg presces £ i T

T\N.,::
N‘-‘U ‘1

Name the reproductive part where cell U is produced:



Question 37 of 58 Primary 5 Science (Term 2) 0 pts

The diagram below shows the male

and femala :
reproduction of a human. Cells T and reproductive cells during process Z in the

U are needed for process Z to occur,

T\,u.,::
N“-‘u ‘1

Process Z also takes place in flowering plants.
Describe how process Z takes place in a flower. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 38 of 58 Primary 5 Science (Term 2)

The table below shows some physical traits of Mr. and Mrs, Lim.

Physical trait Mr. Lim Mrs. Lim
Hair length Short Short
Eysiid Single Single
Eye calour Black Black

The tabla below showe some of tha physical traits of three girs, Abby, Betty and Cleina.

Physical trait Abby Betty Claire
Hair length “Short Long Short

Eyelid Single Single Double
Eye colour Black Black Blue

Only two of the gifs are the dawghters of Mr. and Mrs. Lim.

Based on the information given, state which girl is not likely to be the daughter of Mr. and
Mrs. Lim. Explain your answer. (1 mark)



Question 39 of 58

Primary 5 Science (Term 2)

The table below shows some physical traits of Mr. and Mrs, Lim.

0 pts

Physical trait Mr. Lim Mrs. Lim
Hair length Short Short
Eysiid Single Single
Eye calour Black Black

The tabla below showe some of tha physical traits of three girs, Abby, Betty and Cleina.

Physical trait Abby Betty Claire
Hair length “Short Long Short

Eyelid Single Single Double
Eye colour Black Black Blue

Only two of the gifs are the dawghters of Mr. and Mrs. Lim.
Explain how physical traits are passed on from parents to their children. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 40 of 58 Primary 5 Science (Term 2) 1 pt

Kenny placed a candle at equal distanca in between two sheets of materials P and 0. An
equal amount of wax was attached 1o the materials.

" a

{ o

-

Kenny recorded the amount of fime taken for the wax on materizals P and Q 1o
in the table below. el s shown

Material Time taken for wax to malt {min)
P 20
Q 2

State the independent variable (changed variable) in this experiment.



Question 41 of 58 Primary 5 Science (Term 2) 0.5 pts

Kenny placed a candle at equal distanca in between two sheets of materials P and 0. An
equal amount of wax was attached 1o the materials.

" a

{ o

-

Kenny recorded the amount of fime taken for the wax on materials P and Q to mell 2& sh
in the table below. -

Material Time taken for wax to malt {min)
P 20
Q %

The diagram below shows an electric iron,

a

handle

00008 aog
o
)
cooR o=

Which material (P or Q) should he use to make the base of the electric iron?

Base:



Question 42 of 58 Primary 5 Science (Term 2) 0.5 pts

Kenny placed a candle at equal distanca in between two sheets of materials P and 0. An
equal amount of wax was attached 1o the materials.

" a

{ o

-

Kenny recorded the amount of fime taken for the wax on materials P and Q to mell a& shown
in the table below.

Material Time taken for wax to malt {min)
P 20
Q %

The diagram below shows an electric iron,

a

handle

00008 aog
o
)
cooR o=

Which material (P or Q) should he use to make the handle of the electric iron?



Question 43 of 58 Primary 5 Science (Term 2) 0 pts

Kenny placed a candle at equal distanca in between two sheets of materials P and 0. An
equal amount of wax was attached 1o the materials.

" a

{ i

=
-

Kenny recorded the amount of fime taken for the wax on materials P and Q to mell 2& sh
in the table below. -

Material Time taken for wax to malt {min)
P 20
Q 2

The diagram below shows an electric iron.

a

handle

eo0000oaS
o
o
coopS=

Using the results given, explain why you chose the material in the previous question to make
the handle of the electric iron. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 44 of 58 Primary 5 Science (Term 2) 0 pts

The diagrams below shows the life cycles of insects A and B.

Compare the life cycles of insects A and B.

State 2 differences between the life cycles of insect A and B. (2 marks)
(Do not compare the size, shape and colour of the insects.)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 45 of 58 Primary 5 Science (Term 2) 0 pts

The diagrams below shows the life cycles of insects A and B.

Compare the life cycles of insects A and B.

Butterflies lay many eggs on leaves at one time. State one advantage of laying many eggs.
(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 46 of 58 Primary 5 Science (Term 2) 0 pts

The table below is made of wood from sustainable forests.

Suslainable forests: |

A sustainable forest will contain trees of all ages and often different |
species of trees. As the trees malture they are cut down and the
nalural wood is processed al saw mills. The trees are replaced with
seedlings. In this way the forest is constantly renewed.

i —

Give 2 reasons why it is important to replace the forest trees that are cut down. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 47 of 58 Primary 5 Science (Term 2) 1 pt

The table below is made of wood from sustainable forests.

Susfainable forests: |

A sustainable forest will contain trees of all ages and often different |
species of trees. As the trees malture they are cut down and the
nalural wood is processed al saw mills. The trees are replaced with
ssedlings. In this way the forest is constantly renewed.

Name a greenhouse gas.



Question 48 of 58 Primary 5 Science (Term 2) 0 pts

Waendy helped her mothar lo bake

o i Flgurs 1. potatoes for dinner. She placed a raw potalo on a plate as
potato
plate
Flgure 4

wwrsmwmrmmnwuu:mmmimnmmr if she cut it as shown in Figure 2.

plate

Figure 2

Name the variable Wendy should measure to find out if her mother's suggestion is correct. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 49 of 58 Primary 5 Science (Term 2) 0 pts

Waendy helped her mothar lo bake

o i Flgurs 1. potatoes for dinner. She placed a raw potalo on a plate as
potato
plate
Flgure 4

wwrsmwmrmmnwuu:mmmimnmmr if she cut it as shown in Figure 2.

plate

Figure 2

Give a reason why the potato in Flgure 2 would be baked faster than that in Figure 1. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 50 of 58 Primary 5 Science (Term 2) 0 pts

Eﬂﬂ:ﬂnﬁ&dmmfw‘ﬂﬂﬁﬂmliqmdﬁﬂm the beaker onto a petri dish using a plastic

dﬁwkl;hwmﬂlpmsﬁn Step 2: Insert the dropper inside the
mwin : vﬂf‘lbaﬂ position waler. Squeeze the rubber and of the
beaker of water dropper and bubbles will appear.

Step 3. Release the rubber end of the
dropper and water will enler the dropper,

Explain why water will enter the dropper in step 3. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 51 of 58 Primary 5 Science (Term 2) 0 pts

Damren wanted fo transfer 50 mi of liquid from the beaker onta petr dish using 3 plastic

dropper.
‘ plastic

dropper
uaﬁplﬁ.l;h”mﬂf’m“m Step 2: Insert the dropper inside the
Wina "-‘El"ﬂﬂﬂﬂ Pﬂﬁﬂr waler. Squeeze the rubber and of the

dropper and bubbles will appear.

Step 3. Release the rubber end of the
dropper and water will enler the dropper,

Liquids and gases have mass and occupy space.
State another common property of liquids and gases. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 52 of 58 Primary 5 Science (Term 2) 0 pts

Darren wanled to fill up a pail using a bottle of water,

boitle

method 1 pail method 2

The pail was filled up with water fasier using Method 2. Explain why. (2]

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 53 of 58 Primary 5 Science (Term 2) 0 pts

Jermaine sat up & larrarium as shown below. She did not water the plants after it was sealed.,

damp soil

After bao weeks, Jermaine noticed that mist can be seen inside the fermarnivm,

misl

Explain how the 'mist' in the terrarium was formed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 54 of 58 Primary 5 Science (Term 2) 0 pts

Jermaine sat up & larrarium as shown below. She did not water the plants after it was sealed.,

damp soil

After bao weeks, Jermaine noticed that mist can be seen inside the fermarnivm,

misl

Explain why the plants in the terrarium can survive without being watered for two weeks. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Mei LI wanied to find out how the colow of the =:
of &ir in the beakers. surface of the beakers affects the temperature

She prepared sel-ups A and B as shown below. Sha placed the set-ups under the Sun over a

period of firme.
lid lid
PHT-‘H““I-F : air fﬂ_hlm:l:
1: ! # paper
sal-up A eat-up B
The '
hnm:mph below shows the change in the temperature of the air in both sel-ups over a few
temperature of air B
(°C)
A
# fime (houra)
Based on her graph, what conclusion can she draw from the experiment? [

Give a reason for your answer.
This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Steven conducted an experiment to compare the rales of evaporafion of water in containers X,
¥ and Z. He poured 50 cm® of water into each of the three containers. He placed the set-ups
under a fan for a day.

Ugl

containar X conlainer Y  conlainer 7

Use the figures provided in the box to complete the table below to show the volume of
water left at the end of the experiment. (1]

40 em? 28 cm?’ 18 cm®

Volume of water leRt In the container {cm®)
Container | Af the start of experiment After a day
X 50 I =
]
kg B0
Z 50
[ Container | At the start of After a A. 40cm
experiment day
X 50
2.[ ] Container | At the start of After a B. 18cm
experiment day
Y 50
.11 Container | At the start of After a C. 28cm
experiment day
z 50
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Steven conducted an experiment to compare the rales of evaporafion of water in containers X,
Y and Z. Ha poured 50 cm® of water into each of the three containers. He placed the set-ups
under a fan for a day.

containar X container Y  coniainer Z
Explain why the following actions would help make the experiment a fair test. 2 marks)
i) Using same amount of water in each container.

ii) Placing all three containers at the same place.

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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The diagram below shows & wet t-shiit cicthesline, BaEL
the shirl avery hour. hung on a Steven measured the mass of

%bu[
bo ol

Wel L-shirt

The graph below shows the changes in the mass of the wet t-shirt over a period of time.
Mass of the t-shirt (g)

b
3
i
'
i
i

>
Sam  11am Tpm  3pm (Time of the day)

Which part of the graph above ORar RS
of waler during the day? E ”[F:._ o .}mmmﬂhﬂimhn{aml}m{}:}

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



